A * é @ Calcular por cento dos ntimeros

Nome: Encontro: Data: Pontuagdo:
84 x 60% = 18 x 90% =
66 x 60% = 9% 10% =
54 x 70% = 51 x70% =
95 x70% = 28 x 60% =
92 x 90% = 86 x 80% =
50 x 40% = 53 x70% =
54 x20% = 9 x10% =
13 x 70% = 52 x 30% =
80 x 10% = 38 x70% =
77 % 40% = 96 x 60% =
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Calcular por cento dos nimeros

Nome:

84 x 60% = 50.4

66 x 60% = 39.6

54 x70% = 37.8

95 x70% = 66.5

92 x90% = 82.8

50 x 40% = 20

54 x20% = 10.8

13 x70% = 9.1

80 x 10% = 8

77 % 40% = 30.8

Encontro: Data:

18 X 90% = 16.2

9x10% = 0.9

51 x70% = 35.7

28 x 60% = 16.8

86 x 80% = 68.8

53 x70% = 37.1

9x10% = 0.9

52 x30% = 15.6

38 x 70% = 26.6

96 x 60% = 57.6
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Pontuacao:
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